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# create an INET, STREAMing socket
s = socket.socket (socket.AF_INET, socket.SOCK_STREAM)
# now connect to the web server on port 80 - the mormal http port

s.connect (("www.python.org", 80))
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# create an INET, STREAMing socket

serversocket = socket.socket(socket.AF_INET, socket.SOCK_STREAM)
# bind the socket to a public host, and a well-known port
serversocket.bind ((socket.gethostname(), 80))

# become a server socket

serversocket.listen(5)
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while True:
# accept connections from outside
(clientsocket, address) = serversocket.accept()
# now do something with the clientsocket
# in this case, we'll pretend this ts a threaded server
ct = client_thread(clientsocket)

ct.run()
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class MySocket:
"""demonstration class only

- coded for clarity, not efficiency

mmn

def __init__(self, sock=None):
if sock is None:
self.sock = socket.socket(
socket.AF_INET, socket.SOCK_STREAM)
else:
self.sock = sock

def connect(self, host, port):
self.sock.connect((host, port))

def mysend(self, msg):
totalsent = 0
while totalsent < MSGLEN:
sent = self.sock.send(msg[totalsent:])
if sent ==
raise RuntimeError("socket connection broken")

totalsent = totalsent + sent

def myreceive(self):

chunks = []

bytes_recd = 0

while bytes_recd < MSGLEN:
chunk = self.sock.recv(min(MSGLEN - bytes_recd, 2048))
if chunk == b'':

raise RuntimeError("socket connection broken")

chunks . append (chunk)
bytes_recd = bytes_recd + len(chunk)

return b''.join(chunks)

COREFEI—FIE, BEHOLWEIR v E—VEEAF—LTHZS - XFH%ES L &, Python BHEX %
len() THRMHZ2ZeMNTES (I \0 PHDAFHTOTHRLR), HELLLTWVW2DIX, BHIKZEa—
FTH2, (BB, C THHEBIEIHEDELIRLRVD, XvE—IIT\0 PHEDAEFNTVS L strlen DEZ
VO, )

RHEHRHBEZ. A v —YDORAIO—XF2 &4 THEFHIILT, ZOXA T TRIZIET L0V H0D
o ZOWEZRTOD recy BHBILICKD - ~BHTZO—XTF (B L+ THA) 2WMoTEEZH
N, ZHFEHTA=FLTHED 2L D7, 203D LIXYID FRAOEZITLOTHIUR, EEDH A X (4096 2
8192 23k v b T —2 Ny 7 7 IR Z 2 BEWV) TREL TRYD XFEEBELTWL 22Tk 5,

5



DD TE L NEFEREA DL D WA v 2 — S BREIE (115 OEHEEH2F12) BoTL 3L Db
rEFETabanzes, FLTEEDYA X% recv KELTWARL, ROX vE—IDEHEIESETHATL
FHZeBHEZNH LNKRV, ZOL EE, BDEICRDZEITHICIIT T, KUNHEREL TELLDERD 3,

Xy b—VBEICEX % (L 213 5 HOKTT) 3201, ZhEDbISIMIck2, W5 0b, (1§
Cohnzunhd LARWA) —EO recv T 5 XFE2RMZIIME B TEZ LBRLLVWALE, BEST
RoTVWBMETEPETD, @AMAY bV —27DH LT, recv L— 7R &7DOMHbRVI—RiE Hok
EOMICEXCRH>TLED - ~BHERIEREDLIHT, ZHBBE T — X EZIWME AL, 55—, 0w
HLW, IHITZDLE, send b—RHTEMEZH LTINS LBRELLVWI L IIKMESL S, BB, 525%-
THATOVTSH, WOLHELIEVHEZR 2D TH 3!

WMEDEE S L CHBERIVELR (& FHEOHAER) D7z, Z5 LARREHEMEL LTKRLTEL, 2D
JTLEBI,

3.1 N1 FUTFT—&

NAFVF=RIF oK BERLSY 7y MREREHNS, M. TXRTOYS Y TRILERZ2#ioTnabid
TRERVWZ2IZH B, 72 21 Motorola DF v 7125 16 By KD 1 L WS EEZSRzDD 16 #H A M 00
01 TRHET 22, Intel ® DEC IZWANA 2 -FHL 1230100122507, Y5y b4 770F16 €y b
232y FMEBOZEHH 2 — 1% 5> TW3 - ntohl, htonl, ntohs, htons TH 3, "n” & network. "h”
X host ZEKT %, 7s” 1& short T 17 & long 72, ZAHDa— U, T2y by =2 = KA MY 25
i1 LRV, T U DHWANL P RLZNICEDE TS Do RIL TN 3,

D32 By MR, N4 FUF—&IZ ASCII REDIES /N KRBT eDBEV, EW0WIH DD, long ZDICH
RO oMDTEFIZLELEIVS ZIREIZEZ WAL, XFHES 707 13 2 84 FRDIZ, N FVIZ
4 N4 FBHIES, BBEAATHNIEERER v —JICI3EDRV, TH, ¥H5T5,. ©5F 3,

4 iR

BiEICiE, Y7 v M close T AHICIE shutdown §5 Z 22K - TW5, shutdown XHFY 7 v MiT 3
WMETHD, EIFHCL-T TZhBEZ o553 WITYE, FREEVWTEHE] EWIEKICR 72D,
TS5/, BBV LTZ o203 5, LALIEEAYDY Zy b4 77V ZOZF 7y b eR5
Tur I IZBRTLE > T, @ close 21T shutdown(); close() ¥[AL I X% %, EhoKKiZhE
HX shutdown L2 < THWLW,

shutdown DR LM VWHT DV 2 HTTP MO h e b, 7747y MEIEREZHLTT K
shutdown(1) %, THTH— N, (757472 MIXEZTTIHN, IRREAERTT) bbb, ¥—11&
0 NA FRAET "EOF” 2 T2 2 e TES, BEREERSITRIM-oZ LR LTRVOE, ML TH -
BEZED, D send B LD, 753472 PEIFEBRCELEZELTWEI LTS,

Python (% Z @ B#] shutdown % & 5 =D T, Y7 v b2 GC I3 & ZICHERSHBIT close LT
LEoTWVW5, LALIHICHEHS ZE2Z2DTUEWITR WV, B LY 7 v bdS close B3 IKEEZHTX, HFEY
6



Ty PRIBEONBVRETRERoTAYZLTLEI 2D LAWY, BEVWEDS KboZkob Ak close
LT,

4.1 Vv bHEHE

Ty XYy beHo TWT—HVRRDEZD, HFEMIEHE (close ¥FI2) XV T5L &L
2 2, B Y 7y MIEHRTANY 7557255, TCP IMEEEOE T b aLrkdT, ok
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ready_to_read, ready_to_write, in_error = \
select.select(
potential_readers,
potential_writers,
potential_errs,

timeout)
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X PRIEV (AR 1 er»0) KREHIRZ I TEL 2 ek,
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BTES - ZRUINAZRY MY =TI Ny T 7 IZEBEDRDHDZ VIR ITOEKRLLRODIEZNS)
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